



COMPLETION OF LINEAR AND NON-LINEAR EQUATIONS USING THE NEW HOMOTOPY PERTURBATION METHOD

Dr. Ritikesh Kumar

Extension Lecturer, Mathematics Department,
Government Girls College, Sec 14, Gurugram (Haryana).

Abstract:

The intention of this project is to compose advanced process for determine of linear and nonlinear equations. The current techniques is New Homotopy Perturbation Method which is appreciate approach for explain and classification of linear and nonlinear equations. This scheme can be vied as an extrusion of a few modern system for determine specified method of nonlinear equations. The numerical decision of using the NHPM to some experiment prove skillfully and reliability of system.

Keywords: HPM, NHPM, Linear and Nonlinear Equation, Burger Equation.

Introduction: The NHPM is capable in observation the comparative or analytic explication of the linear and nonlinear partial differential equation .The suppose decision defend the power, easily as well as simple of the system to implement, in the view we shall illuminate the NHPM represented by [1,2]

The present method is simple, skilful as well as broadly helpful to explain non linear differential equation. In NHPM a homotopy is formulated by suggested and install parameter $p \in (0,1)$ the HPM use the little parameter as well as the clarification is written as capability range in p in induction of He's polynomials which can be generated by many methods. Particularly physical developments are restrained by linear or non linear differential equation.

Own selves provide the reasoning of the new homotopy perturbation method .personally current numerical decision to determine the ability of the NHPM method for a few PDE .Certainly, provide the conclusions.

Homotopy Perturbation Formula:

We explain this method; let us suppose the following function:

$$S(u)-t(r) = 0, \quad r \in \phi \quad (1)$$

With the basic case

$$A(u, \frac{\partial u}{\partial n}) = 0, \quad r \in \lambda, \quad (2)$$

Where S is a general operator t(r) is a analytic function, A is a boundary operator, and λ is the boundary of the domain. The operator S can be generally divided into two operator, K and M, Where K is a linear and M a nonlinear operator.

Equation (1) can be, therefore,

$$K(u) + M(u) - t(r) = 0 \quad (3)$$

Using the homotopy technique, we constructed a homotopy $v(r,p): \phi \times [0,1] \rightarrow R$, which satisfies

$$H(v,p) = (1-p)[K(v)-K(u_0)] + p[S(v) - t(r)] = 0, \quad (4)$$

Or

$$H(v,p) = K(v) - K(u_0) + p [K(u_0) - K(u_0)] + p [M(v)-t(r)] = 0, \quad (5)$$

Where $p \in [0,1]$ is called homotopy parameter and u_0 is an initial approximation for the solution of (1), which satisfies the boundary condition. Obviously, from (4) or(5) , we will have

$$H(v,0) = K(v) - K(u_0) = 0 \quad (6)$$

$$H(v,1) = S(v) - t(r) = 0 \quad (7)$$

And changing process of p from zero to unity is just that of H(v,p) from $K(v)-K(u_0)$ to $S(v)-t(r)$.

In topology, this is called deformation $K(v)-K(u_0)$ and $S(v)-t(r)$ are called homotopy

We can assume that the solution of (4) or (5) can be expressed as a series in p as follows:

$$V = v_0 + pv_1 + p^2v_2 + p^3v_3 + \dots \quad (8)$$

Setting $p=1$ result in the approximate solution of (1)

$$U = \lim_{p \rightarrow 1} v = v_0 + v_1 + v_2 + v_3 + \dots \quad (9)$$

New Homotopy Perturbation Method:

The general types of PDE can be suppose as the

$$\frac{\partial \phi}{\partial s} + k(\phi(q_1, q_2, q_3, \dots, q_{n-1}, s)) = m(q_1, q_2, q_3, \dots, q_{n-1}, s) \quad (1)$$

With the successive basic case :

$$\Phi(q_1, q_2, q_3, \dots, q_{n-1}, s_0) = G(q_1, q_2, q_3, \dots, q_{n-1}, s_0)$$

Where k is a non-linear operators which is depends on the function ϕ and its derivatives with respect to q'_j s $j = 1$ to $n-1, s$ and m is in homogenous for determine equation (1) by applying NHPM we establish the successive homotopy

$$(1-p)\left(\frac{\partial \phi}{\partial s} - \phi_0\right) + p\left(\frac{\partial \phi}{\partial s} + k(\phi) - m\right) = 0 \quad (2)$$

Or

$$\left(\frac{\partial \phi}{\partial s}\right) = \phi_0 - p(\phi_0 + k(\phi) - m) = 0 \quad (3)$$

Applying the inverse operator, $L^{-1} = \int_{s_0}^s ds$ on two sided of equation (3)

$$\Phi(q_1, q_2, q_3, \dots, q_{n-1}, s) = \Phi(q_1, q_2, q_3, \dots, q_{n-1}, s_0) + \int_{s_0}^s \phi_0 ds - p \int_{s_0}^s (\phi_0 + k\phi - m) ds \quad (4)$$

Where

$$\Phi(q_1, q_2, q_3, \dots, q_{n-1}, s_0) = \Phi(q_1, q_2, q_3, \dots, q_{n-1}, s_0)$$

Suppose the explanation of equation (4)

$$\Phi = \phi_0 + p\phi_1 + p^2\phi_2 + p^3\phi_3 + \dots, \phi_j = j = 0, 1, 2, 3, \dots$$

Are function which should be illuminate consider that the fundamental proximate of the explanation is in the successive form

$$\phi_0(q_1, q_2, q_3, \dots, q_{n-1}, s) = \sum_{j=0}^{\infty} c_j(q_1, q_2, q_3, \dots, q_{n-1}, s) p_j(s)$$

Where

$c_j(q_1, q_2, q_3, \dots, q_{n-1}, s)$ are unknown coefficients and p, p^2, p^3, \dots are specific function

Comparing the coefficients of p

$$p^0 : \phi_0(q_1, q_2, q_3, \dots, q_{n-1}, s) = G(q_1, q_2, q_3, \dots, q_{n-1}, s) + \sum_{j=0}^{\infty} c_j \int_{s_0}^s p_0(s) ds$$

$$p^1 : \phi_1(q_1, q_2, q_3, \dots, q_{n-1}, s) + \sum_{j=0}^{\infty} c_j \int_{s_0}^s p_0(s) ds - \int_{s_0}^s k(\phi_0) - m ds$$

$$p^j : \phi_j(q_1, q_2, q_3, \dots, q_{n-1}, s)$$

$$= - \int_{s_0}^s k(q_1, q_2, q_3, \dots, q_{n-1}, s) ds$$

Thus the accurate explanation may be gather as

$$\Phi(q_1, q_2, q_3, \dots, q_{n-1}, s) = \phi_0(q_1, q_2, q_3, \dots, q_{n-1}, s) + G(q_1, q_2, q_3, \dots, q_{n-1}, s) + \sum_{j=0}^{\infty} c_j \int_{s_0}^s p_0(s) ds$$

$$(1). \frac{\partial \chi}{\partial t} + \phi \frac{\partial \chi}{\partial \phi} + \psi \frac{\partial \chi}{\partial \psi} = 0$$

Basic conditions

$$\chi(\phi, \psi, 0) = \phi + \psi ; \chi_t(\phi, \psi, 0) = 0$$

The above difficult we write .

$$\chi(\phi, \psi, t) = \phi + \psi + \int_0^t (-\phi \frac{\partial \chi}{\partial \phi} - \psi \frac{\partial \chi}{\partial \psi}) dt$$

By the NHPM is

$$\chi_0 + p\chi_1 + p^2\chi_2 + p^3\chi_3 + \dots = \phi + \psi + p \int_0^t (-\phi \{(\chi_0)_\phi + p(\chi_1)_\phi + p^2(\chi_2)_\phi + \dots\} - (\psi) \{(\chi_0)_\psi + p(\chi_1)_\psi + p^2(\chi_2)_\psi + \dots\}) dt$$

Equating the range of P .

$$\chi_0 = \phi + \psi$$

$$\chi_1 = \int_0^t -\phi(\chi_0)_\phi + (-\psi)(\chi_0)_\psi dt$$

$$\chi_1 = -(\phi + \psi)t$$

$$\chi_2 = \int_0^t -\phi(-t) + (-\psi)(-t) dt$$

$$\chi_2 = (\phi + \psi) \frac{t^2}{2!}$$

⋮
⋮
⋮

Continue this process we get

$$\chi(\varphi, \psi, t) = \sum_{j=0}^{\infty} \chi_j(\varphi, \psi, t)$$

$$\chi(\varphi, \psi, t) = (\varphi + \psi) - (\varphi + \psi)t + (\varphi + \psi)\frac{t^2}{2!} + \dots$$

So the accurate explanation.

$$(\varphi + \psi) e^{-t}$$

(2) Consider the pd equation is

$$\frac{\partial \chi}{\partial t} + \phi \frac{\partial \chi}{\partial \phi} = 0$$

Basic conditions

$$\chi(\varphi, 0) = \varphi; \chi_t(\varphi, 0) = 0$$

The above difficult we write.

$$\chi(\varphi, t) = \varphi + \int_0^t (-\phi \frac{\partial \chi}{\partial \phi}) dt$$

By the NHPM is

$$\chi_0 + p\chi_1 + p^2\chi_2 + p^3\chi_3 + \dots = \varphi +$$

$$p \int_0^t (-\phi \{(\chi_0)_\phi + p(\chi_1)_\phi + p^2(\chi_2)_\phi + \dots\}) dt$$

Equating the range of P .

$$\chi_0 = \varphi$$

$$\chi_1 = \int_0^t -\phi(\chi_0)_\phi dt$$

$$\chi_1 = -\phi t$$

$$\chi_2 = \int_0^t -\phi(-t) dt$$

$$\chi_2 = \phi \frac{t^2}{2!}$$

:

:

:

Continue this process we get

$$\chi(\varphi, t) = \sum_{j=0}^{\infty} \chi_j(\varphi, t)$$

$$\chi(\varphi, t) = \varphi - \phi t + \phi \frac{t^2}{2!} + \dots$$

So the accurate explanation.

$$\varphi e^{-t} \quad (3)$$

Consider the burger equation is

$$\chi_t + \chi\chi_\phi - \chi_{\phi\phi} = 0$$

basiccondition

$$\chi(\varphi, 0) = \varphi$$

The above difficult may be write as.

$$\chi(\varphi, 0) = \varphi + p \int_0^t [-(\chi\chi_\phi) + \chi_{\phi\phi}] dt$$

by the NHPM is

$$\chi_0 + p\chi_1 + p^2\chi_2 + p^3\chi_3 + \dots = \varphi$$

$$+ p \int_0^t [-(\chi_0 + p\chi_1 + p^2\chi_2 + p^3\chi_3 +$$

.....

$$)\{(\chi_0)_\phi + p(\chi_1)_\phi + p^2(\chi_2)_\phi + \dots\} + \{$$

$$(\chi_0)_{\phi\phi} + p(\chi_1)_{\phi\phi} + p^2(\chi_2)_{\phi\phi} +$$

Equating the range of p.

$$\chi_0 = \varphi$$

$$\chi_1 = \int_0^t [-(\chi_0)(\chi_0)_\phi + (\chi_0)_{\phi\phi}] dt$$

:

:

:

$$\chi_1 = \int_0^t [-(\phi)(1) + (0)] dt$$

$$\chi_1 = -\phi t$$

$$\chi_2 = \int_0^t [-\{(\chi_0)(\chi_1)_\phi + (\chi_1)(\chi_0)_\phi\} + (\chi_1)_{\phi\phi}] dt$$

$$\chi_2 = -[(\phi)(-t) + (-\phi t)(1) + (0)]$$

$$\chi_2 = 2\phi \frac{t^2}{2}$$

:

:

:

$$\chi(\varphi, t) = \sum_{j=0}^{\infty} \chi_j(\varphi, t)$$

$$\chi(\varphi, t) = \varphi - \phi t + \phi t^2 + \dots$$

$$\chi(\varphi, t) = \varphi(1 - t + t^2 + \dots)$$

is become a G.P series so

$$\chi(\varphi, t) = \frac{\varphi}{1+t}$$

thus the accurate explanation. (4).

Consider the burger equation is

$$\chi_t - 6\chi\chi_\phi - \chi_{\phi\phi} = 0$$

basiccondition

$$\chi(\varphi, 0) = 6\varphi$$

The above difficult may be write as.

$$\chi(\varphi, 0) = 6\varphi + p \int_0^t [6(\chi\chi_\phi) + \chi_{\phi\phi}] dt$$

by the NHPM is

$$\chi_0 + p\chi_1 + p^2\chi_2 + p^3\chi_3 + \dots =$$

$$6\varphi + p \int_0^t [6(\chi_0 + p\chi_1 + p^2\chi_2 + p^3\chi_3 +$$

.....

$$)\{(\chi_0)_\phi + p(\chi_1)_\phi + p^2(\chi_2)_\phi + \dots\} + \{$$

$$(\chi_0)_{\phi\phi} + p(\chi_1)_{\phi\phi} + p^2(\chi_2)_{\phi\phi} +$$

Equating the range of p.

$$\chi_0 = 6\varphi$$

$$\chi_1 = \int_0^t [6(\chi_0)(\chi_0)_\phi + (\chi_0)_{\phi\phi}] dt$$

$$\chi_1 = \int_0^t [6(\phi)(6) + (0)] dt$$

$$\chi_1 = 6^3\phi t$$

$$\chi_2 = \int_0^t [6\{(\chi_0)(\chi_1)_\phi + (\chi_1)(\chi_0)_\phi\} + (\chi_1)_{\phi\phi}] dt$$

$$\chi_2 = 6[(6\phi)(-6^3t) + (-6^3\phi t)(6) + (0)]$$

$$\chi_2 = 26^5\phi \frac{t^2}{2}$$

:

:

:

$$\chi(\varphi, t) = \sum_{j=0}^{\infty} \chi_j(\varphi, t)$$

$$\chi(\varphi, t) = 6\varphi + 6^3\phi t + 6^5\phi t^2 + \dots$$

$$\chi(\varphi, t) = 6\varphi(1 + 6^2t + 6^4t^2 + \dots)$$

is become a G.P series so

$$\chi(\phi, t) = \frac{6\phi}{1-36t}$$

thus the accurate explanation.

Conclusion: - In this Paper we used to successfully the NEW Homotopy Perturbation system to get definite explanation for differential equation this system which provide us ideal provocative result in to terms of potential range the NHPS obsolete largely applicative in many fields of science to resolve the particular sample about complication. Furthermore, this method is a powerful tool to solve any different type of PDE. It is also a helpful and useful method to solve the differential equations.

References:

1. A.M.Wazwaz, The tanh and sine –cosine methods for the complex modified and generalized KdVequations, Computers and Mathematics with Applications 49 (2005) 1101-1112.
2. Cheng-shi Liu, The essence of the Homotopy analysis method, arXiv:1105.6183v1 [nlin.SI] 31 May 2011.
3. Computation 156(2004) 591U” 596.Sami Bataineh A, Noorani M.S.M, Hashim I, Solving systems of ODEs by Homotopy analysis method, Communications in Nonlinear Science and Numerical Simulation 13 (2008) 2060-2070
4. Faghidian Sa, MoghimiZand, M, Farjami Y, Farrahi G.H, Application of Homotopy-Pade Technique To The Volterra’s Prey And Predator Problem, Appl.Comput. Math., V.10, N.2, 2011, pp.262-270
5. He J.H, Asymptotology by Homotopy perturbation method, Applied Mathematics and
6. He JH. Application of homotopy perturbation method to nonlinear wave equations. Chaos ,Solitons and Fractals, 2005; 26: 695–700.
7. He JH. Asymptotology by homotopy perturbation method. Applied Mathematics and Computation, 2004; 156(3)
8. He JH. Comparison of homotopy perturbation method and homotopy analysis method. Applied Mathematics and Computation, 2004; 156: 527–539.
9. J.H. He Homotopy perturbation technique, *Comput. Meth. Appl. Mech. Eng.*, **178** (1999), 257–262. [https://doi.org/10.1016/s0045-7825\(99\)00018-3](https://doi.org/10.1016/s0045-7825(99)00018-3)
10. J.H. He, A coupling method of a homotopy technique and a perturbation technique for nonlinear problems, *Internat. J. Non-Linear Mech.*, **35** (2000), no. 1, 37–43. [https://doi.org/10.1016/s0020-7462\(98\)00085-7](https://doi.org/10.1016/s0020-7462(98)00085-7)
11. J.H. He, *Appl. Math. Comput.* 156 (2004) 527.
12. J.H. He, Approximate analytical solution of Blasius’ equation, *Commun. Nonlinear Sci. Numer. Simul.*, **3** (1998), 260–263. [https://doi.org/10.1016/s1007-5704\(98\)90046-6](https://doi.org/10.1016/s1007-5704(98)90046-6)
13. J.H. He, *Chaos Solitons Fractals* 26(3) (2005) 827.
14. J.H. He, Comparison of homotopy perturbation method and homotopy analysis method, *Appl. Math. Comput.*, **156** (2004), 527–539. <https://doi.org/10.1016/j.amc.2003.08.008>
15. M.A.Jafari and A Aminataei, Improvement of the homotopy perturbation method for solving diffusion equations *Physica Scripta* 82(1) (2010), 1-8.
16. S. Abbasbandy, *Appl. Math. Comput.* 172 (2006) 485.
17. S. Momani, Z. odibat, *Phys. Lett. A* 365 (2007) 345.
18. Shijun Liao, Comparison between the Homotopy analysis method and Homotopy perturbation method, *Applied Mathematics and Computation* 169 (2005) 1186-1194
19. X.Feng, Y.We, Modified homotopy perturbation method for solving the Stoke's equations, *Computer and Mathematics with Applications* 6 (8) (2011) 2262-2266.
20. Zoua L, Zonga Z, Dongb G.H, Generalizing Homotopy analysis method to solve Lotka-Volterra equation, *Computers and Mathematics with Applications* 56 (2008) 2289-2293